	
	1.000
	
	
	2.000
	
	
	10.000
	
	
	15.000
	

	20.000
	
	P(x>15); µ=12, σ=3
	0.1587
	

	P(x=30);  µ=20, σ=10
	0.000
	
	P(8<x<12);  µ=10, σ=3
	0.4950
	
	11.000

	
	0.3309
	
	
	0.6731
	
	
	P(z<-1.06)
	
	
	P(z<-1.41)
	

	
	P(x>26)
	
	
	P(15<x<20)
	
	
	0.1446
	
	
	0.0793
	

	18.000
	µ=24.6, σ=3.2
	0.2119
	P(x<15)
	µ=17, σ=2.5
	P(x>17)
	0.5000
	
	0.8186
	P(-1<z<2)
	
	8.000

	
	P(18<x<21)
	
	
	P(x>21)
	
	
	0.0496
	
	
	94.35
	

	
	0.1107
	
	
	0.0548
	
	
	P(x<46.5)
µ=55.9, σ=5.7
	
	
	98th, µ=80, σ=7
	

	50.000
	
	0.1151
	P(x>17)
µ=14, σ=2.5
	
	P(x>280)

µ=266, σ=16
	0.1908
	
	P(18<x<30)
µ=25, σ=6
	0.6760
	Find x for the given percentile.
	4.000
 3 (

	
	0.6826
	
	
	0.2267
	
	
	P(z>3.03)
	
	
	80th,  µ=525, σ=100
	

	
	P(-1<z<1)
	
	
	P(x>600)
	
	
	0.0012
	
	
	609
	

	29.000
	
	0.3721
	P(500<x<600)
	µ=525, σ=100
	P(600<x<750)
	0.2144
	
	P(x<15)

  µ=12, σ=3
	0.8413
	
	3.000

	
	9.000
	
	
	3.000
	
	
	16.000
	
	
	32.000
	


Statistics z-puzzle
Cut the squares apart.

Match equivalent sentences.

You should get a new 4 X 4 square.

	
	x ( -9
	
	
	x > -10
	
	
	4x < 400
	
	
	x ( 18
	

	3x < 12
	
	x ( 2
	x > 16
	
	8 > 5 - x
	5 ( x - 8
	
	x > 1
	x > -3
	
	4x ( -8

	
	x/-2 < 5
	
	
	x/7 ( 3
	
	
	-2x ( -6
	
	
	x ( 3
	

	
	24 < 4x
	
	
	x ( 33
	
	
	x < 7
	
	
	5.3x < 10.6
	

	x > 15
	
	x < -6
	x – 11 > 4
	
	2 > x
	-3/4 x ( 9
	
	x ( -2
	1-x < 1
	
	x > 39

	
	x +3 ( 13
	
	
	13 + 4x ( 9
	
	
	x – 2 < -3
	
	
	-x/2 + 3 ( 0
	

	
	7x > 21
	
	
	7x ( 77
	
	
	x > 6
	
	
	x > -2
	

	x < 20
	
	x - 4 > -6
	x ( 30
	
	x ( 21
	9x + 2 ( 20
	
	x ( -3
	-5x > -35
	
	x ( 13

	
	-4x + 2 ( 22
	
	
	5x – 7 > -2
	
	
	2/3 x ( 12
	
	
	x ( 13
	

	
	x-5 ( 58
	
	
	x ( -1
	
	
	x+1 ( -8
	
	
	x ( -5
	

	x >0
	
	x ( 4
	x + 3 ( 0
	
	x > 2
	x/-2 > 3
	
	x ( 19
	7 + x  , 97
	
	x ( -12

	
	x + 3/5 > 13/5
	
	
	x < -1
	
	
	x ( 75
	
	
	-3x ( -12
	


Algebra I:  Solving Inequalities 2
Cut the squares apart.

Match equivalent sentences.

You should get a new 4 X 4 square.

